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B.Com. - lll (Semester — VI) (CGPA) Examination, 2018
ADVANCED BANKING (Paper - 1I)
Banks and Financial Institutions
Day and Date : Tuesday, 27-3-2018 Max. Marks : 70

Time : 2.30 p.m. to 5.00 p.m.

Instructions : 1) All questions are compulsory.
2) Right side marks indicate full marks.

1. Choose the correct alternative from given alternatives : 14
1) The objective of bank is to develop industrial sector in
India.
a) IDBI b) IFCI c) ICICI d) All the above
2) Inthe year the export-import bank was established.
a) 1980 b) 1985 c) 1982 d) 1990
3) is a major constraints of E-banking.
a) Maintenance of cost b) Start-up cost
c) Security cost d) None of these
4) clearing house is the first clearing house in the world.
a) London b) Mumbai c) Kolkata d) Chennai
5) is the home of branch banking system.
a) USA b) England c) France d) Japan
6) The Currency Act of bank of England was passed in the year
a) 1938 b) 1948 c) 1928 d) None of these
7) The important delivery channel of E-banking is
a) Home banking b) Tele-banking
c) Internet banking d) Mobile banking

8) Bank of England is established in the year
a) 1964 b) 1980 c) 1694 d) 1946
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9) Red-tapism is an important feature of banking system.
a) Mixed b) Unit c) Branch d) None of these

10) The first development bank in India was established in the year

a) 1938 b) 1948 c) 1954 d) 1955
11) The first banking act in America was passed in
a) 1940 b) 1933 c) 1945 d) 1950
12) IDBI is established in the year
a) 1965 b) 1964 c) 1970 d) 1980
13) A new system of payments in Indian banking is
a) D.D. b) Cheque c) RTGs d) None of these
14) The operations of E-banking are beneficial to
a) Bank customer b) Banker
c) Govt. d) All the above
2. Write short answer : 14

A) State promotional functions of Industrial development Bank of India.
B) State the management system of Bank of England.

3. Write short notes : 14
A) Constraints of E-banking.
B) Federal Deposit Insurance Corporation.

4. Write answer (any one) : 14

A) Explain the role of industrial development bank of India in Indian
economy.

B) Explain the present position and functions of Bank of England.

5. Write answer (any one) : 14
A) Explain the advantages and disadvantages of E-banking.

B) Explain the present position of commercial banking in USA.
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2. drgwITa 3N forar
37) AR TR forepm sfoh=ht forepraTeners s/ @,

) ook ATH STl TALATIH Tl T,

3 . foten
3) 3. FhIT HE THOMA TSUS.
) g 341 famn qemEss.

¥. W fa=n (W%QIQEF) :

) AR T HeA SR forehrel stoneil YfHenT T .

q) sk ITh FTere HEURET I FHR T .

4. 3T forer (v uek) -
31) 3-SIhITe BRIG 1S TR .
) mfehdiel SR S Tafedt Tose .
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